02/06/2009
hwiwp 165-U

«PULYU3PL UJULALENN SUNBUUL SNUNUUShL GUUUSURGMNHB3UU
<ucdunrunruc yuunuuywunNa 8/02-c» <UUSUSGELNF UUUhUL

UnyjG ubnGuyunpgnud Ghipunywo k << WA funphpnh
npnpiwip Jumwpywd thnthnfumpniGitpnp

GQuinGwlwpqgp thnthnfuyty £
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Qwjuunwlh Kwlpuwybnnmpjuli yaGuopnGuwlywl pwGyh  dwuhGy  <{wjwunwih
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1 {wunwunt] «PwlyujhG wjwbnltph nmwptjuwl unynuwjhG Guinwpbpnipjwl
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QLNMv 1. GULrA-ULNLUTL UAUAYTY

Uny6 JulnGwlywpgp vwhdwlmd b «PwllwjhlG wwlnltnph Gipgpuydiwl dwuhl»
JwjwunwGh Lwlpuwybnnpjub optiipny (wjunthtin® Optilip) vwhdw Gywo nhypbpnid
Jwjwunwlh Lwlpwybunnipjul wnmwpwopmyd qnponn pwlytph L omwpbpypjw
pwlytph Jwulwdmntph Yynnihg pwluwihG wyjwlnlbph (wjunthtin® wywln)
Gipgpuyiwl yepwptpyuw hpwjwlwgynn Jud hGuntpGtn gulgnd mbnunpjuwo nplk
gnjuqgnnid, hwjnwpwnpnipjniinid, wowownpynid, obipnmwymy Jwd opipnw whtyn
hpwytipnd, wbntjuunjuwyuwi withnthwgpmd Ghipwndwl  Gpwyuw  wnmwptjuld
nninuwjhl Gyuinwptpnipjwl hw)ywnpldwb Junpgp:

QLNkMuU 2. LUUGUSNARMe-3NFLLEN
UniG ulGnGuwyupgnd oqunuwagnpoynn hhdGwlwl hwuljuwgnipmGGtpG Ga.
«UJwln»’ pwGyuyhl wywln uyd pulGyuwjhG hwpynmd wnjw ngpudwub dhongGtin:

«Pwlly» <wjwunwlh wlpwybunmpyuG YaGopnGuwlywl pwGyh  (wjunthtim®
UtGunpnGwlwl pw6y) Ynnihg pwGyuwjhb gnpontlGtinipjul hgtlghw unwguo puwly
Jwud onwpbpypyw pwlyh dwulwdnn:

«Swptijwl wwpq wninuwngpnip» wnwpbuwlG Yupwopny  wjwlnuwjhG
wwjiwlwagpny vwhiwlGjwo mnynuwnpniyp, nph hhdw6 ypw pwGyp hwpgupyma L
wywlnwwunihl Jdwpdwl Gipwljuw nnynuwgnmiwpbbpn:

«APY - Ej-®Oh-Mwy (wjumhtim® APY)» wjjw] wjwlnuwubtuwyh hwdwnp
hwyqupywo wjwlnh nwptyuwl wnnynuuwjhl GiwdnwpbpnipynGp: APY gnyg k
wnwihu, pb nppwl Yywqih wyjwlnh nwpbuli Guwdnwptpnpyniip hwdwfunpnh
Unnihg wywlnh htn Juwwyywo wwpunwnhp ydwpltp Juuwpbnt b unwgjuo
nnynuwgniiwpbtipp dwyp gnudwphl wybpugGtmn: (Quuyhunwuwgdw () wpryniGpnid:

«Quuhunwjugnud» wjwlnh phiwg gnjugwd wniynuwgmiwpltph JdwpnudGbn:
Snynuwgnidwpbtph JdwpnuiGipp wjwlnh gnudwphG nnynuwgndwpbGph nmnuyh
dninpugnnuil £ jud wjwlnuumnihG wmnynuwgniiwnltiph ninuyh JdéwpmdGhpn:
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2)
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S)
6)

Nppwl hwdwpwyh (hGh wnynuwgniiwpltph juuyhunwjugnip, wjlipwl pwpénp
yihGh mwptwl mnynuwjhl GuinwptpnpniGn:

«¥puiwywl hnupbtp»’ wjwlnuwubuwyh qony pwlyh L wyjwlnwwnih Ynnihg
vhyjwlg Yuwumwpynn YJdwpltpp (wywlnh gqmdiwpp, wnynuwgndwpltpp b
wuwpunwnhp ydwpltpp) hwpyh wnGbny unyG juGnGuywuwpgh 4-pn Ynnyg GJuo
uljqpmiGpGhpn:

«Muwupununhp ydwpGhp»” pninp wyG Jawpltpp, npnlp wjwlnuwwmnil ywpumwynp L
Juwuwnpl] pwGyhG nyjw; wjuwlinuumtuvwyh qony vhisk wjwlnwihl wywjiwlwaghp
yGptin L wyn wwjiwGwagph gnponnnipjul pGpugpmy (ophGuwy’ hwpyh pwugiwd,
hwyh vywuwpyiwb juwd Juluhjugdwl Jdwnp) pwgwnnipjudp hwpybtph b wyG
JdwpGtph, npnlp ywpumwnhp st6 nyjw; wjuwlnuuntuwyh hwdwn:

«UJulnuwntuwly»’ w)l pninp wjwbnltpp, npnlp twwbu Gny6 plnypl nGhG:

QLN 3. UdULYLELD SULEUUL SNUNUUSRL GUUUSULGLNRMo3UL
UCYUrGUUuL L' RULAR UGQLNMLRLE™

UJwlnltph wwpbwl wnynuwjhl Guwinwptpmpjwli hw)dwpyiwl hwdwp
gnponid GG httmlyw) pGnhwGnip uyqpmiGpGhpp

U6 nhwypbpnud, tpp mjjw] wjwlnuunbuwyh qony wnljw GG yuwpumwnhp ydwnplbn,
wyw  wwpunwnhp  Yydwplipn ywbnp L dwulwlygbl wnwpbuG  wnnlynuwjhG
Glwdnwptinpnipjwl hw)ywnpyh:

Pninp wjwlnuumbuwliph hwdwp jwpnn £ Jhpwnyty unyy6 jubnGwlwunpgh 4-nn
qlfuh pwGwaéln (wjunthtn’ phy 1 pwlwély):

UG ntiwypbpnid, tipp wywlnuunbuwlyh nhiwg nninuwgniwnpGtnph
Juyhwnwuwgnmublbpp nGblG uinGuwynp hwdwhpwwlnipyni (hunwly vwhdwijwo
wupptpwulnipniG) L ppwjuwlugymyd GG vwhiwijwo wuwpptpwlwlnipjudp
npnynn dwdwlwywhwnywobtph Ytpenwd, hGswbtu Gwb sjwl wjuwlnujihG hwpyh
pugiwl Jud Jupdwl hwdiwp pwGyhG yuunmwpynn yqupumwnhp yeéwplGbp, Junpbh k
Yhpwnt] unyyG yulnGwlwpgh 5-nn qifuh pwGwdlp (wjunithtim’ phy 2 pwlwdl):

UG nbwypbpnud, tpp wjwlnh wwpblwl wvnynuwihG  Gludnwpbpnipnilp
hwyqupyynu £ phy 2 pwlwdlny b wjwlnuumbtuwyny Gwhiwntiujwo dwdlytnp vty
wnwnnig wybh £, mwpbul wnynuwjhG Giudnwpbpnipmnip unwgynmd £ dhohl
Epypuwswthwljub hwpwpyGtph hhiw6 Ypw:

Uty vmmwphG nhunwpyynid £ npytiu 365 op:

UnyG JulnGwlwpgh hwiwdw)l hwpqupywo wjwlnlph nmwptuwl nnynuwjht
Guinwptinpmpjnilp Yinpugynid £ wnluwql dhGslk dGy hwpympbpnppuutp b
puqiuwyuwwnlyynid 100-ny” mnynuwjhl dtonipjniG uvnwlwnt hwdwp:
Snynuwgnudwnpbtph  ny  JulnGuwynp Juwwhunmwugiwl nbypnd  wjwlnltph
nwnpbywl wnnynuwihl tyudnwptpnipjul hwyyuwpyiwl dwdwlwly gnpomyd LG
htimlyw) uyqpniGpGlpp’
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8)

njjw; wjwlnuunbuwyh qony wywlnh swh uvwhiwlGjwo jhGhm nhypmd
nwnptjwl unynuwjht Guinwptpmpjwli hwygupiwl hwdwp npybtu wjwlnh
swih plnniGymy £ hwpynip hwqup gpudp,

nyjw] wjwlnuunbuwyh qony wywlnh sGdwuqnn dlwgnpph Jwd GJuquagnyl
gnuiwph  swth vwhdwlwo (hGhnt L wjwlnh wnwybjugnyyl gqmiwph swth
vwhdwljwo  ghGhnt  nhypnd®  wmwpbuwl  wunynuwjhG  Gludnwpbpnipjub
hwJuwpyhb dwulwygnu £ wyn sGJugnn dGwgnpnh Jud GuqugniyG gnidwph swthp,
wjl nbwypbpnud, bGpp njuw; wjwlnuutuwih qony uvwhdwlymd b wlwlnh
(Juwquagnyl L wnwybtjugniyyG swthtph dhowlwjp, wwyw wmwptlwl wnnynuwjhG
tlwdnwptpnipjwl hw)dwnpyhl dwulwlygmd L wjn Gququgniyl L wowybjuwagny)l
pytiph thohl pwpwlwywip,

wj 0 niyptpnud, Gpp niyjw] wjwlnuunbuwyh qony uvwhdwlynd L wjwlnh gnudwph
wytjugiwl (GJuqbgdwl) hGwpwynpmpinil, vwlwjl sh vwhdiwlynd wjwlnh
gnuiwnph wybjugiwl (Gqugqtigiwb) swith, wyw GGpwnpynud t, np wjwlnh gnidwpp
dlwm L wGhnhnu dhGsl nyjuw] wjwlnuunbtuwlyny G(wpwnmbuwo dwdytnh
gnponnnipjwl wywpwp,

wjl nhyptpmd, tpp nyjw; wjwlnuunbuwyh qony (wjuwwmbuynd L wjwlnh
gniiwph thnthnfunipjub hGwpwynpnipynil, L hnthnfunipynil Juumwpbim dwdltump
npn2ynid k£ ny pb YnGiptn wivwpyny, wj; npnpwih duiwlwyjwhwnyjwony, www
tlpwnpymu L, np thnthnfunipjniG Juumwnptint onl wyn dwdwlwlywhwwunywoh Yytpohl
onlG L,

wjl pbhwyptpmd, tpp wnyjw; wjwlnuwunbuwyh qony (wjuwwmbuynd L wlwlnh
nwptjuwl wwpq wnynuwnpnyph  hnthnfumpjul  hGwpwynpoipynG, uvwlu)l
thnthnfumpjul sgwhp vwhdwGuo sk, Gpunpynud k, np wjwlnh mwptjuwb wyupq
nnynuwnpnypn WGwnt £ wthnthnfu dhGsb mjw; wjwlnuubuwlng Gwwnbujw o
duwiltimh gnponnnipjwl wywpwp,

wj 0 nhypbpmy, tpp nyjw; wjwlnuumtiuwyh qony nmwpbljwl yunpg wmnlynuwnpnijpp
uvwhiwljwo k nplk dudwlwlwhwwnyuoh hwdwnp, huy dlwgwo
dudwlwlwhwwnywoh ppwgpnid Junpnn E thnthnfuyty, wyw mwptjul unynuwhG
twinwpbtpnpjul hwygwpyhl dwuluwygnd GG pt” mjw) dwdwlwljwhwnywoh
hwiwn vwhiwlijwo mnynuwnpniypp b pb’ thnthnfuynnp, pln npnud nputiu thnthnfuynn
unnynuwnpnyp yipgymd L wnyjw; wuwhhG gnponn thnthnfuynn minynuwnpnypp,

nyjw] wjwlnuumbtuwlh qony wywlnh gnponnnipjul dwdiytn vwhdwljwo sihGhnt
ntiypnud’ npytiv wjwlnh gnponnnipjwl dwdybtin plnniGynid k d&Y mwphG:

QLNMu 4. T4ULYLELD SULBHUUL SQUNUUSRL GUUUSULGLNRM3UL
uodurup

5. UJwlnGtph wwptuwl wnnynuwjhl GywdnwpbpnpniGp hwywpyymd B GGenyg

htinlyw) pwGwdlhg



A=y — Ko

" 1+ APY )T W

nputin’
1) A—wywlnh uyqpGuwywb gniiwn t:

2)
3)

4)

5)

1)

n —wjwlnh nhiwg ngpudwlwl hnuptiph htippww6 hwdwnG k:

N -wjwlnh ghiwg ngpuiwlwl hnuptph YytpohG hwdwn( b (Ghpunyu) Gub wjwlnh
Gipnpiwl wwhplG npuwdwlwl hnupp), nphg htnn wjwlnwjhl wwjdwlugnph
duwijtimp hwdiwpynud £ wjupmyjwo:

Kn-wjwGnh GopnppiwG ywhh( W/jwd wjwlnh gnponnnipjul pGpugpnid Gepnpduo
wjwilnh WHwd Juyhunwuwgduwo wnynuwgnidwuplbph, woluwnipjul nhypmd
wwnpuwnhp ydwnpltph hnupbp:

Dn— wjG phyl E, npp gniyyg L mwihu, pt pwGh on £ wlgh] wywlnh GhpgpiwG ophg
dhG;u wjwlnh nhiwg Juwwmwpynn htippuwjwl’ n-pn gpudwyul hnuptipp Gpunjwy:
U6 niypntd, tpp wjwlnh GhpppdwG wwhhG b gpudwlw6 hnuptpp, D; = 0:

UnylG YuwlnGwlwpgh 7-9-pn Yhnbpmd Gepluwjwugynd GG wnwptyuwl wnnynuwjhl
tyuwdnwptipnipjuwG hw)unpyiwb ophGuyGtp phy 1 pwlGwéalny:

OphGwyl «duiybnwjhl wywlny wywlnh GGpypiwl wwhhl nnynuugmiwnlbph
Jdwpiwip».

Glpwnptilp wnwownplynid £ wjwlnuubtivwl htnlyw) yuwjdwGGbpny
w. UJwlnh suth® 100 000 npuyd
p. Udwlnh gnponnmpjul dwiytin’ 1 mmwph (365 op)
q. Swpbywl ywnpqg mnynuwnpnyyp” 7%
1. Snynuwgmuiwnpltph yodwpmdGbpp” wjwlnh GhpppdwG ywhhG

Uyw(nh
Gtpnpdw G
Uyw(nh nhiwg ophg dhGsl Uyw(nh
npuiwyu htippuwul déwpnn ‘Lhpnpywo wjwlnh nhiwg
hnuptiph mnynuwgnii nnynuwgnuiwpGtp qnuiwph htippuwul
htippuwul wph JdwnpnudGtp plnhwGnip
hwdwpp' n JowpmuG Joun' Kn
pGYwd optiph
phyp’ Dn
1 0 7000 7000
b 365 100 000 100 000
LayuwdkGp 7000 100 000 107 000




2)

3)

4)

1)

2)

3)

GiGtiny ytpnGjwy;  oppGwyh wwjdwlGiphg® YJuunwlwlp wlwlnh nhdwg
nninuugnmuiwnpitph ydwpnuiGtnh hbnlgw) qpudphyp

Ujuwlnh Gepgpiw 6 ywhh6 ydwpynn mnnuuwgnidwpp unwgynmu £
k, =100000*0.07 = 7000 npwu

MGGGwny pnnp wlhpwdtpm dtompmGGtipp L oquuyting phy 1 pwGwdlhg
Juunwlwlp mwptjul mnynuwjhl Giudmwpbpnipjul swhp

7000 100000

ot %5

(1+ APY)® (14 APY)*s
100000
———3 > nnwbinhg

(L+ APY)36s

APY =0.075269*100 = 7.53%

OphGwy 2" «dwiybmwyhG wywln wjwlnh Gopppiwl wwhhg snpu wdhu htivnn
nnynuwqmiwplph Ydwpdwdpy. wpwowpyynn  wdwlnh  wwjdwlGhpp
hwiwywwmwuppwlmd G0 ophGwy 1-hG, pwgunnpjulip wninuwgmiwnpitph
JdwpmuiGtph. wmninuwgmiwnpltph  Jdwpnuip  ppwluwiugymd L wjwlnujhl
wwjiwlwagph gnponnnipjwl ynppnpng wdujw Yytponid.

Uju nbwypnid Juunwlwlp wlwlnh nhiwg wninuwgnmiwplbph JdwpmdGbph
htinlgug qpudbhyp

100000 =

100000 - 7000 =

Uywlnh
Gpnpdw G
Uywnh nhiwg | ophg dhish Uyw(nh
nnuiwyub htippwyw Jd6wpynn ‘Lhpnpjuo wjwlnh nhiwg
hnuptiph mnynuwgnii wnynuwgnuiwpGtp qnuiwph htippuwul
htinpuywa wph JdwnpnudGtp plnhwGnip
huwdwpn' n JawpmuG Jaun' Kn
pGYwd optiph
phyp’ Dn
1 120 7000 7000
2 365 100 000 100 000
Llnuikip 7000 100 000 107 000

Udwlnh Gepypiwl ywhhg snpu wdhu htinn yGwpynn nmnynuwgniiwpp unwgynid £
k ,=100000*0.07 = 7000 npw

MGbGwny pnnp wlGhpwdtpm dtompmbGaipp L oquuytiny phy 1 pwGwdlhg
Juunwlwlp mwpblywl nmnynuwjhb Gudnwptnpnipjuwl swuhp




7000 100000

wt 35 , npuntinhg
(1+ APY )35 1+ APY)3%

APY =0.073409*100 = 7.34%

9. Ophlwy 3 «dwdftimwjhG wdwly vhwijwq wwpnwuwnhp Jdwplbipny wdwlnh
(pnpuwG wuwhh6y».

100000 =

1) Glpwnptlp wnwownphynmu £ wjw lnuwwntuwly htnlyw) yuwjdwGatpny
w. Ugwlnh swth 100 000 npwud
Uygwlnh gnponnnipjwl dwiytin’ 1 mwunph (365 on)
Swptjwl ywpq mnynuwnpnyp” 7%
Snynuwgniiwnbtinh ydwpmiGhpp wjwlnh gnponnnipjwl duwdilyjtimh ytponid

. UJwlnwwunh Ynnihg wyjwlnh uvnwgiwl opp Jwuwwpynn wwpuwnhp
JdwpGtip’

UJwlnuwjhG hwpyh uvywuwpyiwl yqupumwnhp ydwp' 1000 gpud

S

2)  Uu pbypnd Juunwlwlp wyjwlnh nhiwg wnynuwgmiwnplph JdwpndGhph

htinlywy gpubhyp
Uywlinh
GpnpiwG
Uyqwénh nhiwg | ophg thGsl
nnuiwyub htippwywl M Jdawnynn Lbppquo U.llilulﬁlﬂl nhuug
hnuptinh mnynuwgnid wpawnhp mnynuwagnid wwbnh tnpwijw
pun g g
Jawnltp qnuiwph nlnhwGnip
htppwiyu wph wnGtp JGwpnuit y6wp' Kn
hwdiwpp' n JawpnudG I n I
nGYwo optiph
phyp” Dn
1 0 -1000 -1000
2 365 7000 100000 107000
COnwutlp -1000 7000 100000 106000
3) UJwlnwjhG wwjiwlwqph gnponnnmipjul yYbpond Ydwpynn wmninuwgniiwpp
unnwgynmu k£’
k, =100000*0.07 = 7000 npwd
4)  MGtGuny pnnp wlhpwdt)m dhompmGGipp L oquybtiny phy 1 pwlwélhg
Juunwlwlp mwptyul unynuwjhl tludmwpbpmpjul suthp
-1 107
100000 = 000 . 0 000365
1+ APY)35 (14 APY)365



101000 = &OO%S , npuntinhg

(L+ APY )35
APY =0.059406*100 = 5.94%

5) UjG nbypbpmd, tpp opplGwy 3-h wwjydwGGtpny Gapgpyt 10,000 npuidh wjwn,
APY=(-2.73%), huy 1,000,000 npud wjwlnh nhypnid® APY=6.89%:

QLNMu 5. ULULALELD SULBUUL SQUNUUSEL GUUUSUAGLNRM3UL
Jvuerudne {gecdurye Snunuuenruuruvsrh 4 aULNMILELR LULALUYNR
LJUaUuULUTLNRME3UL 26NN

10. UJwlnGiph wmwpbwl wnynuwjhl Gudnwpbpmpmnip  wnnynuwgnidwpltiph
JwlnGwynp YJwuwhnwwuwgnuiGtiph nbypnd  hGwpwynp £ hwydupyt]p  htunlgug
pwlwduny

APY :(1+r/n)”—1 2)

npntn’
1) APY —umuwptjwl winynuwjhl tudinmwpbpnipjniGa k:
2) r—uwmwpbjwl ywuwpq mnynuwnpnyph k:

3) n — Uy wwpu plpugpmi  wmnynuwgmidwpltph uwyhunwpugdwi
hwdwfuwwlnipnGa t:

11. OphGuwy 4 «dwdytinwjhG wywin unnnuuqmiwnpltph wiuwywl
Juwyhnwugdwipy.

1) Glhpwnnpblp wnwownpyymu £ wjwlnuwntuwly htnlyw) yuwjdwGatpny
w. UJwlnh gnponnnipjul dwiftin’ 1 mwunph (365 on)
p. Swptywl wwnpq mnynuwnpniyp’ 7%

Q. Snynulitiph YJwwhwnwugmibGtph hwiwhwlwinpmniip wivwjwl nwpju
nGpwgpnid 12 wlqud, jnipupwlsjnip wivjw dwdwlwuwhwwnywoh Ytipgnud:

2)  GiGny dtpnGjuw; ophGwyh wwjiwGGiphg L oquytiny phy 2 pwlwdlhg
Juunwlwlp muptuwl mninuwjhl Giuwdnwpbpnipjulb swhp.

APY = (1+0.07 /12)" -1 npntinpg

APY =0.072290 *100 = 7.23%

12. Opplwy S'«dwijivnuyh  wyjuwln  wnynuwgqmiwplbph  Juwuyhunwjugdunip
wwjdwlwqph ytpgnud». wnwownpyynn wywlnh wywjdwGlbpp hwinywumwufuwlnd
LG ophGwy 4-hG, pwgwpnmpjuip wnynuwgnmiwnpltph YJwwhunmwjugnuiGbph
hwdwhwljwlnpjul wmnynuGtiph Juyhnwjwgnmil hpwjwiwgymd bt wjwGph
gqnponnnipjul dwiltinh ytponiv:



13.

14.

15.

16.

1)

MGtGwmny pnnp wGhpwdbym  dEOmpmMGGipp L oquyting phy 2 pwlwdlhg
hGwnpwynp £ unwlw) httmbyw) mwptjuwl mninuwjhl Giudinwpbpnipjnilp.

APY = (1+0.07/1)' -1

APY =0.07*100= 7%

OphGwly 6  «dwijtnnwyhG wyjuwln  wnijnuwgmiwplGbiph  GowduywlwhG
JuwuyhnwjugnuiGapny». wnwownliynn wjwlnh wywjiwGiipp hwiwwywwnwufuwlnud
LG ophGwy 4-hG, pwgwpnpjuip wnynuwgndwpltph YJuwuwhunwjugniGbph
hwdwhiwulnipjul, npp jnipupwlysjnip tnwdujwyh Yytpend b, (QuuwhwmwjugnuiGtph
pwlwyn4t):

MGtGuwmny pnnp wlhpwdbym  dEOmpmMGGipp L oquytind phy 2 pwlwdlhg
hGwnpwynp £ unwlw) httmlyw) mwptjuwl mninuwjhl Giudinwpbpnipjnilp.
APY = (1+0.07/4)* =1 nptinpg

APY =0.071859 *100 = 7.19%

OphGwly 7° «dwijtnnwyht wljuwln  wninuwgnuiwpltph Jhuwdjwluht
JuwyhnwjugnuiGapny». wnwownliynn wjwlnh wywjiwGiipp hwiwywwnwufuw lnud
LG onhGuwy 4-ha, pwgwnnipjulip wnnlynultinh Jwuwhunwjwgnuibtinh
hwdwhwwbnipjwd, npp Yhuwdjwyh yepend £ (GuyhmwiugnidGiph pwGwyp 2 t):

MGtGwny pnnp wlhpwdtipm  dtompniGGipp L oquybtiny phy 2 pwlwélhg
hGwpwynp £ unwlw) httmlyw) mwptljuwl mnynuwjhl GyudinwpbpnipniGp.
APY = (1+0.07/2)* -1, nputinhg'

APY =0.071225*100 =7.12%

OphGwy 8 «UJuwln wninuwgmiwpltph opwlwl YwuyhwwimgmiGtpnyy.
wnwowniynn wywlnh wwjydwllbtpp hwiwywunwuhpwlnd GG ophGwl 4-hd,
pugunnipjulip mnynultph Juuyhnwjugnuiltph hwdwppwlwbnipjw, npp opwud k
(Quuyhwnwjugmubtph pwGwyp 365 t):

MGtGwny pnnp wGhpwdtipm  dtonmpniGGipp U oquybtiny phy 2 pwlwdlhg
hGwpwynp £ unwlw) httmljw) mwptjuwl mninuwjhl Guinwpbpnipjnilp.
APY = (1+0.07/365)* —1, nputinhg

APY =0.072501*100 = 7.25%

OnhGwy 9 «Gpywpwdwijtim wywlny wwptuwl wvwpq wnynuungpniyph L
nninuuwgmiwpbtiph juwhnwjugmibtnh hwswhwjwinipjwl thnthnfudwip».

Glpwnptilp wnwownplynid £ wjwlnuutivwl htnlyw) yuwjdwGGbpny
w. UJwlnh gnponnnipjul dwiftin’ 2 mwnph (730 on)

p. Swptywl ywpq mnynuwnpniyp’ wnwohl nmwnpyw hwdiwn 5%, tpypnpn nmwpjuw
hwiwn 6%



q. GwwhwnwugnmuibGiph wwppbpwyuwlwnpyniip® wnwohlG wwphl wivwul

nwpjuw plpwgpnd 12 wlquwd, tpypnpn wmwphG JhuwdjwlywihlG mwupju
nipwgpnid 2 wiquy, jnipupwlynip ywppbpwwinpjwl ytpeniy:
2)

MGGGwny pninp wlhpwdbyn dhompyniGltpp, oquyting phy 2 pwlwdalhg L
hpwlwlwgltny vhohG Gpypwywthwiwl hw)jwpllbp’ hGwpwynp L unwlwy 1
nwnpjw nwpbljwl nnynuwjht Gludnwptpnip nilin’

APY =3/(1+0.05/12)% * (1+0.06/2)* ~1 npuntung

APY =0.056019*100 = 5.60%
17. Opplwy 10" «Gpiupuwduniyjin  wywlny wnynuugmiwpltph  djulquijw
Juwyhnwjugdwdp, L mwptjuwl yunq mnynuwnpnjph hnthnfudwip»
Glpwnptilp wnwownplynid £ wjwlnuutivwl htnlyw) yuwjdwGGbpny
w. UJwlnh gnponnnipjwl dwiytin’ 3 mwnph (1095 op)

1)

p. Swptywl ywpq mnynuwnpniyp’ wnwohl nmwpjw hwdwn 5%, tpipnpn nmwpjuw
hwdwn' 6%, tppnpny mwupyuw hwdwp' 7%

q. Snynuwgmiwnpltpp juwyhnwjwgynmd GG mwpblwl Yuupjwopny:
2) MGtGwmny pnnp wlhpwdbyn dhompymGGtpp, oquyting phy 2 pwlwdélhg L
hpwlwGwgltny dhohG tpypwswhwlwl hwyyupyltp” hGwpwynp £ uvnwGuy 1
nwpjw nwpblwl nnynuwjhb Gludnwptpnipniin.

APY =3/(1+0.05/1)" * (1+0.06/1)* * (1+0.07/1)* —1, npuntinhg
APY = 0.059969 *100 = 6%



